BALUSTRADE SYSTEM KITS
Balustrade Solution 3m Clamp Kits (Domestic and Commercial Applications)

BASE FIX (PG120B)

* Doesn’t include substrate fixings or end caps

HARDWARE

Glass Thickness (Nominal] (System can Accommodate) WARRANTY

12-21.5mm
Area (idealy suited)

="

sy

Internal H~ =29
& External II:lI lMI e
Model | Sizes mm Finish Material Type Application
GLASS CHANNEL SYSTEM | POSIGLAZE BASE ANOD BRUSHED
THICKNESS: BASE FIX DRILLED KIT COMPRISES OF:
500036 12mm ANOD-BRUSHED ALUM 6063 T6 - 1x 3m Base Drilled Channel
500037 | 135mm | ANOD-BRUSHED BRUSHED * Complete with seal | 2x 3m Top Clip Bead
ANODISED TO strips, gaskets, |1x Clamp kit (consisting of
500038 15mm ANOD-BRUSHED 20 MICRONS side cladding and 12 clamps) to suit specified
500039 1756mm | ANOD-BRUSHED glass clamps glass thickness
1x Spanner
500040 19mm ANOD-BRUSHED 1 x Dowel Chanel Joiners (Pair)
500041 21.5mm ANOD-BRUSHED
500248 12mm MILL - FINISH ALUM 6063 T6
500401 13.5mm MILL - FINISH POSIGLAZE BASE MILL FINISH
500409 15mm MILL - FINISH DRILLED KIT COMPRISES OF:
500410 175 MILL - FINISH 1x 3m Base Drilled Channel
-omm - 2 x 3m Side Cladding
500404 19mm MILL - FINISH 1 x Clamp kit (consisting of 12
500405 21 5mm MILL - FINISH clamps) to suit specified glass
. thickness
OVERALL ON REQUEST: 1x Spanner , ,
LENGTH POWDERCOAT 1 x Dowel Chanel Joiners (Pair)
=3000mm ANOD NATURAL
* Doesn’t include substrate fixings or end caps
Glass Thickness (NominaIJ (System can Accommodate) HARDWARE
WARRANTY
12-21.5mm
Area (Ideally suited)
Internal H- J!)
& External II:lI l%l e
Model | Sizes mm Finish Material Application
GLASS CHANNEL SYSTEM |POSIGLAZE SIDE ANOD BRUSHED
THICKNESS: SIDE FIX DRILLED KIT COMPRISES OF:
500042 12 ANOD-BRUSHED ALUM 6063 T6 - 1 x 3m Side Drilled Channel
* Complete with seal |1x 3m Top Clip Bead
- BRUSHED
500043 13.5 ANOD-BRUSHED ANOI;JIEED To strips, gaskets, 1 x 3m Side Cladding
500044 15 ANOD-BRUSHED 20 MICRONS side cladding and |1 x Clamp kit (consisting of 12 clamps)
500045 175 ANOD-BRUSHED glass clamps to suit specified glass thickness
- 1x Spanner
500046 19 ANOD-BRUSHED 1 x Dowel Chanel Joiners (Pair)
500047 21.5 ANOD-BRUSHED
500249 12 MILL - FINISH ALUM 6063 T6 POSIGLAZE SIDE MILL FINISH
500416 135 MILL - FINISH DRILLED KIT COMPRISES OF:
1 x 3m Side Drilled Channel
500418 15 MILL - FINISH 1x3mTop Bead
500419 175 MILL - FINISH 1 x 3m Side Cladding
~ 1 x Clamp kit (consisting of
500421 19 MILL - FINISH 12 clamps) to suit specified
500422 21.5 MILL - FINISH glass thickness
] 1x Spanner
OVERALL ON REQUEST: 1 x Dowel Chanel Joiners (Pair)
LENGTH POWDERCOAT
=3000mm ANOD NATURAL

52 4#A METRO

PERFORMANCE GLASS

©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.

Balustrade Systems

www.metroglass.co.nz




BALUSTRADE SYSTEM KITS
Balustrade Solution 3m Clamp Kits (Domestic and Commercial Applications)

ANGLED SIDE FIX (PG180S)

* Doesn’t include substrate fixings or end caps

HARDWARE
Glass Thickness (Nominal] (System can Accommodate) WARRANTY
12-21.5mm

Area (ideally suited)

Internal H-
& External |:| lMI

2D
=

Sizes mm

Finish

Material

Application

GLASS CHANNEL SYSTEM |POSIGLAZE SIDE ANOD BRUSHED
THICKNESS: SIDE FIX DRILLED KIT COMPRISES OF:
500048 12mm ANOD-BRUSHED ALUM 6063 T6 - * Complete witkh seal |1x3m Side I?rilled ghannel
strips, gaskets, 1x3m Top Clip Bea
500049 13.5mm ANOD-BRUSHED AB?SEL]JIES’:E)IJTO side cladding and |1 x 3m Side Cladding
500050 15mm ANOD-BRUSHED 20 MICRONS glass clamps 1 x Clamp kit (consisting of
500051 176mm | ANOD-BRUSHED 12 clamps) to suit specified
glass thickness
500052 19mm ANOD-BRUSHED 1 x Spanner
500053 21.5mm ANOD-BRUSHED 1 x Dowel Chanel Joiners (Pair)
500424 12mm MILL - FINISH ALUM 6063 T6 POSIGLAZE SIDE MILL FINISH
500425 13.5mm MILL - FINISH DRILLED KIT COMPRISES OF:
1x 3m Side Drilled Ch |
500427 15mm MILL - FINISH 1x3m Tépe Boaq o mne
500428 17.5mm MILL - FINISH 1 x 3m Side Cladding
500430 19mm MILL - FINISH 1 x Clamp kit (consisting of 12
clamps) to suit specified glass
500431 21.5mm MILL - FINISH thickness
1x Spanner
OVERALL ON REQUEST: 1 x Dowel Chanel Joiners (Pair)
LENGTH POWDERCOAT
=3000mm ANOD NATURAL

©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.

www.metroglass.co.nz

Balustrade Systems

#A METRO 53

PERFORMANCE GLASS



BALUSTRADE SYSTEM COMPONENTS

Individual Parts — PosiGlaze

HARDWARE
WARRANTY

__Product | Model | Sizesmm | __Finish | _Material _|__Type | Application

*Each kit contains
12 clamps (Inc. Clamps,
x2 3m lengths bulb
gasket, bars, bolts)

sitinto the top
mould of the clamps
and the clamp bolts,
which screw into
the bars and are
then undone to hold
the glassin place.
These are undone
and tightened each
side allowing the
glass alignment. 6m
gasket to suit glass
thickness.

BASE DRILLED 300341 3000mm ANOD-BRUSHED | ALUM 6063 T6 - | BASE DRILLED | BALUSTRADE | Internal &
CHANNEL BRUSHED HANNEL HANNEL E I
GLASS ON REQUEST: us c ¢ xterna
THICKNESS: | POWDERCOAT | AnodisedTO SYSTEM IDI
: 20 MICRONS COMPONENT
12-21.5mm £f-
EXTRUSION [m]
SIZE: 2N
72 x119.5mm e}
SIDE DRILLED 300342 3000mm ANOD NATURAL | ALUM 6063 T6 - | SIDE DRILLED | BALUSTRADE | Internal &
CHANNEL GLASS BRUSHED CHANNEL CHANNEL External
THICKNESS: Anodised TO SYSTEM IDI
: 20 MICRONS COMPONENT
12-21.5mm &
E EXTRUSION '%l
SIZE: 49
74.5x119.5mm e
TOP SEALSTRIP | 301348 3000mm ANOD-BRUSHED | ALUM 6063 T6 - TOP SEAL BALUSTRADE | Internal &
BRUSHED STRIP SYSTEM External
301349 3000 MILL - FINISH
mm AnodisedTO |, | COMPONENT
ON REQUEST: 20 MICRONS holds the gasket and IDI
POWDERCOAT is pressed onto the H
ANOD NATURAL o the motalton. =
*Doesn’t include bulb grivr:r:nzhsrﬂf;ﬁ Jﬁ
seal, please refer to debris from entering :)
Bulb Seal Gasket section the channel.
for respective glass
thicknesses
SIDE CLADDING | 300419 3000mm ANOD-BRUSHED | ALUM 6063 T6 - SIDE BALUSTRADE | Internal &
BRUSHED CLADDING SYSTEM External
300420 3000 MILL - FINISH
mm AnodisedTO |, | COMPONENT
ON REQUEST: 20 MICRONS seal strip it holds IDI
POWDERCOAT the gasket in place H
ANOD NATURAL s Frovsw. =)
Tob dwith
S?deedlrjisl\eedvglhannel Jﬁ
to cover the drill T
holes from view.
Requires adhesive
to hold flat surface
against channel.
BOTTOM 300417 3000mm ANOD-BRUSHED | ALUM 6063 T6 - BOTTOM BALUSTRADE | Internal &
CLADDING 300418 3000mm MILL - FINISH BRUSHED CLADDING SYSTEM External
AnodisedTO | . qwith | COMPONENT
ONREQUEST: | 20MICRONS | <iltedzrame |
POWDERCOAT if required, gives H
ANOD NATURAL e botiom o7 the =
h |. Clips int:
the grooves under Ys)
the channel, will 1
require adhesive
for securing in
place.
GLASS CLAMP | 300358 12mm BLACK PLASTIC GLASS CLAMP | BALUSTRADE | Internal &
300359 13.5mm BLACK *The clamps can fit SYSTEM External
. glass thicknesses COMPONENT
300360 15mm BLACK Tmm either way IDI
_,1",:, of»nominallg\ass
iy 300361 17.5mm BLACK thickness ie. 15mm £
. glass clamps will 'ml
suit 14 16mm glass.
300362 19mm BLACK Included ars the Y,
300363 21.5mm BLACK clamp bars, which e

54 4#A METRO

PERFORMANCE GLASS

©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.

Balustrade Systems

www.metroglass.co.nz



BALUSTRADE SYSTEM COMPONENTS
Individual Parts — PosiGlaze

HARDWARE
WARRANTY

Application

DOWEL (CHANNEL | 300860 | 30xS9mm Dia | ANOD-BRUSHED | ALUM 6063 T6 - CHANNEL BALUSTRADE | Internal &
JOINERS) BRUSHED JOINER SYSTEM External
.- Anodised COMPONENT
4 -j" *The dowels are IDI
" : £ - used to allow for &
= betts ligni
| = wienejo?r:ﬁvgncghannel 'ml
| =1 sections together. 5 :
*Sold as a pair
END CAPS 300505 (BPGR'Q.B) ANOD-BRUSHED | ALUM 6063 T6 - ENDCAP | BALUSTRADE | Internal &
RS (PR BRUSHED SYSTEM External
PG120S) Anodised TQ | *Stainless steel COMPONENT
300507 (Pa120 ANOD-BRUSHED i
Side Fix 20MICRONS | coorappiont o out IDI
(PG180S) An adhesive will
300508 F Fix LH ANOD-BRUSHED need to be used to H-
ace Fix hold them in place. 'MI
(PG180S)
300509 | o 2 FiRH | ANOD-BRUSHED =20
(PG120B) O
300504 Base Fix MILL - FINISH
(PG120S)
300506 Side Fix MILL - FINISH
(PG180S)
300503 | o e TH MILL - FINISH
CUSTOM END 1000 (L) _
TorS 300510 | .55 1 57m | ANOD-BRUSHED
1000 (L)
_ 300511 | 241 5rm | ANOD-BRUSHED
*For Stairs and ON REQUEST:
led cuts of
gggie-zﬁlgiescohanmel POWDERCOAT
ANOD NATURAL
SPANNER 301424 Angled STEEL SPANNER BALUSTRADE | Internal &
adjustment BLACK rsteel ] SYSTEM External
spanner with angie to resch | COMPONENT
the clamp bolts to IDI
tighten/loosen the H
glass. [3
Dacacd
Cata'd
=29
)
BULB SEAL 302089 12-17.5mm BLACK RUBBER BULBSEAL | BALUSTRADE | Internal &
GASKET 302090 | 19- 21.5mm BLACK *Extra bulb seal SYSTEM | External
gasket can be COMPONENT
*Sold as per supplied in any D
length. The small
(m) Length bulb seal gasket Ef
suits 19 - 21mm 'mml
glass, the large bulb
seal gasket suits 12 2! )
-17.5mm glass. 1
GASKET 300610 | 80x80x0.8mm BLACK FIBRE CLAMPKIT BALUSTRADE | Internal &
GASKET SYSTEM External
COMPONENT IDI
- :
=
=29
)
LINK RAIL 300961 | Suits S25 Rail ADHESIVE 50ML BOTTLE TUBE LOCK | BALUSTRADE | Internal &
LOCTITE 243 ADHESIVE LINK RAIL External
COMPONENT

JsE:0

©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.

www.metroglass.co.nz

Balustrade Systems

#A. METRO

PERFORMANCE GLASS

55



BALUSTRADE SYSTEM COMPONENTS
Balustrade Stiffener Brackets (For Aligning and Stiffening Panels) HARDVIARE

__Product | Model | Sizesmm | __Finish | _Material _|__Type | Application

90 DEGREE 65x55x25mm 2205 STAINLESS | STIFFENER FIXING Internal &
STIFFENER 400153 GLASS o5 STEEL BRACKET | COMPONENT | External
BRACKET THICKNESS:
(GLASS TO WALL) ToedEiEm ||:||
65x55x25mm |$H'~|
300154 GLASS ss
o THICKNESS: Ys)
17.2-21.5mm e
90 DEGREE 75x50x25mm 2205 STAINLESS | STIFFENER FIXING Internal &
STIFFENER 300151 GLASS ss STEEL BRACKET | COMPONENT | External
BRACKET THICKNESS:

(GLASS TO GLASS) 1915 Erm ||:||
i I -'g 88x55x25mm l&l
a i 300152 GLASS ss
: ’ THICKNESS: =20

17.2-21.5mm e
180 DEGREE 70x25mm 2205 STAINLESS | STIFFENER FIXING Internal &
STIFFENER 30014 GLASS ss STEEL BRACKET | COMPONENT | External
BRACKET THICKNESS:

(GLASS TO GLASS]) 12-15.5mm IDI

= 103x25mm |zq'v|
~ GLASS

300150 | 1y cKkNESS: S8 29

17.2-21.5mm O

NOTE: All brackets are supplied with a selection of gaskets to suit glass thickness.

5 6 ///A METHO ©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.
' PERFORMANCE GLASS Balustrade Systems www.metroglass.co.nz



BALUSTRADE RAIL SYSTEM

i i HARDWARE
S2b Link Rail WARRANTY
- 25 x 21mm 2205 Stainless Steel.
- Suitable for 10mm or 12mm Glass Thickness.
- Rail Components available for 90 degree corners, adjustable corners (180 degrees to 90 degrees), stairway link
connectors (Maximum 35 degrees), inline joiner.
- Wall mount brackets available including end caps.
- Satin Stainless Steel finish standard, can be Powdercoated upon request.
Compliance
- Complies with NZS 4223.3.2016 and the latest amendment of New Zealand Building Code B1.
Product Model | Sizes mm Finish Material Type Application | Area
S25 LINK RAIL 300738 5800mm SS 2205 STAINLESS LINK RAIL BALUSTRADE | Internal &
STEEL LINK RAIL Ext |
GLASS ON REQUEST: xrerna
THICKNESS: | POWDERCOAT IDI
B 10-12mm
£f
g ‘ OVERALL =)
N SIZE:
) 25 x21mm
S25 LINK RAIL 300118 | Suits S25 Rail SS 2205 STAINLESS WALL BALUSTRADE | Internal &
WALL BRACKET STEEL BRACKET LINK RAIL External
(LEFT HAND) ON REQUEST. COMPONENT
POWDERCOAT IDI
&
=z
S25 LINK RAIL 301854 | Suits S25 Rail SS 2205 STAINLESS WALL BALUSTRADE | Internal &
WALL BRACKET . STEEL BRACKET LINK RAIL External
(RIGHT HAND) ON REQUEST: COMPONENT
POWDERCOAT ||:||
&
=z

©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.
Balustrade Systems

www.metroglass.co.nz

#A. METRO

PERFORMANCE GLASS




BALUSTRADE RAIL SYSTEM
S25 Link Rail

HARDWARE
WARRANTY

IEEEI Application

¥

S25 LINK RAIL 300863 | Suits S25 Rail 2205 STAINLESS | ADJUSTABLE | BALUSTRADE | Internal &
VERTICAL STEEL JOINER LINK RAIL External
ADJUSTABLE ON REQUEST: COMPONENT
JOINER POWDERCOAT IDI
29
=
S25 LINK RAIL 300862 | Suits S25 Rail SS 2205 STAINLESS | ADJUSTABLE | BALUSTRADE | Internal &
HORIZONTAL ] STEEL HORIZONTAL LINK RAIL External
ADJUSTABLE ON REQUEST: JOINER COMPONENT
JOINER POWDERCOAT IDI
b -
40 3
ve
S25 LINK RAIL 300861 | Suits S25 Rail SS 2205 STAINLESS | 90 DEGREE | BALUSTRADE | Internal &
F|x5333’?§§955 ON REQUEST: STEEL CORNER LINK RAIL External
POWDERCOAT CONNECTOR | COMPONENT IDI
- = K-
=3
S25 LINK RAIL 300852 | Suits S25 Rail SS 2205 STAINLESS | INLINE JOINER | BALUSTRADE | Internal &
INLINE JOINER STEEL LINK RAIL External
ON REQUEST: COMPONENT
e POWDERCOAT IDI
.4 &5
Canand
S25 END CAP 300512 | Suits S25 Rail SS 2205 STAINLESS END CAP BALUSTRADE | Internal &
STEEL LINK RAIL External
ON REQUEST: COMPONENT
POWDERCOAT IDI
E9
=
LINK RAIL 300961 | Suits S25 Rail ADHESIVE 50ML BOTTLE TUBE LOCK | BALUSTRADE | Internal &
LOCTITE 243 ADHESIVE LINK RAIL External
COMPONENT IDI
29
=
S25 LINK RAIL 302091 | Suits S25 Rail BLACK RUBBER RUBBER BALUSTRADE | Internal &
RUBBER GASKET GASKET FOR LINK RAIL External
PER METRE
L ENGTH S25 LINK RAIL | COMPONENT IDI
GLASS
THICKNESS: ~F-
12mm @
GRUB SCREW 301978 M5x6mm SS 316 STAINLESS | GRUB SCREW | BALUSTRADE | Internal &
STEEL LINK RAIL External
FIXING

Il
&9

58 #A METRO

PERFORMANCE GLASS

©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.

Balustrade Systems

www.metroglass.co.nz



BALUSTRADE RAIL SYSTEM
S40 Link Rail

HARDWARE
WARRANTY

- 40x30mm 2205 Stainless Steel.

- Suitable for 12mm - 21.5mm Glass Thickness.

- Rubber gasket available to suit respective glass thicknesses.

- Rail Components available for 90 degree corners, adjustable corners (180 degrees to 90 degrees), stairway link

connectors (Maximum 35 degrees), inline joiner.

- Wall mount brackets available including end caps.

- Satin Stainless Steel standard finish, can be Powdercoated upon request.

Compliance

- Complies with NZS 4223.3.2016 and the latest amendment of New Zealand Building Code B1.

Product Model | Sizes mm Finish Material Application
S40 LINK RAIL 300739 5800mm SS 2205 STAINLESS LINK RAIL BALUSTRADE | Internal &
GLASS ON REQUEST: STEEL LINK RAIL External
. THICKNESS: | POWDERCOAT IDI
) A 12 - 21.5mm ”
.
\ﬂ OVERALL =)
- SIZE:
40 x 30mm
S40 LINK RAIL 300156 | Suits S40 Rail SS 2205 STAINLESS WALL BALUSTRADE | Internal &
WALL BRACKET STEEL BRACKET LINK RAIL External
(LEFT HAND) ON REQUEST. COMPONENT
POWDERCOAT IDI
i)
=
S40 LINK RAIL 301855 | Suits S40 Rail SS 2205 STAINLESS WALL BALUSTRADE | Internal &
WALL BRACKET ] STEEL BRACKET LINK RAIL External
(RIGHT HAND) ON REQUEST: COMPONENT
POWDERCOAT ||:|

A

5

©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.
Balustrade Systems

www.metroglass.co.nz

#A. METRO

PERFORMANCE GLASS




BALUSTRADE RAIL SYSTEM

i i HARDWARE

S40 Link Rail HARDWARE

Imal Application
S40 LINK RAIL 300868 | Suits S40 Rail 2205 STAINLESS | ADJUSTABLE | BALUSTRADE | Internal &
AgELTsT,'IriABLLE ON REQUEST: STEEL VERTICAL LINK RAIL External
JOINER POWDERCOAT JOINER COMPONENT IDI

P @
AN

S40 LINK RAIL 300867 | Suits S40 Rail SS 2205 STAINLESS | ADJUSTABLE | BALUSTRADE | Internal &
HORIZONTAL ] STEEL HORIZONTAL LINK RAIL External
ADJUSTABLE ON REQUEST: JOINER COMPONENT

JOINER POWDERCOAT IDI

i
=

S4OLINKRAIL | 300866 | Suits S40 Rail SS 2205 STAINLESS | 90 DEGREE | BALUSTRADE | Internal &
FIXEgggr?:F?HEE ON REQUEST: STEEL CORNER LINK RAIL External
POWDERCOAT CONNECTOR | COMPONENT I‘:II
W E9
=
S40LINK RAIL | 300869 | Suits S40 Rail SS 2205 STAINLESS | INLINE JOINER | BALUSTRADE | Internal &
INLINE JOINER
ON REQUEST: STEEL LINK RAIL External

COMPONENT

POWDERCOAT IDI
&9

S40ENDCAP | 300513 | Suits S40 Rail ss 2205 STAINLESS | ENDCAP | BALUSTRADE | Internal &
ON REQUEST: STEEL LINK RAIL External

= POWDERCOAT COMPONENT IDI
Ly E9
i =

LINK RAIL 300961 | Suits S40 Rail ADHESIVE 50MM BOTTLE TUBE LOCK | BALUSTRADE | Internal &
LOCTITE 243 ADHESIVE LINK RAIL External

COMPONENT
Il
9

S40 LINK RAIL 302092 | Suits S40 Rail BLACK RUBBER RUBBER BALUSTRADE | Internal &
RUBBER GASKET GASKET FOR LINK RAIL External
PER METRE
LENGTH S40 LINK RAIL | COMPONENT IDI
GLASS &
THICKNESS: C%:]
12-13.5mm
S40 LINK RAIL 302093 | Suits S40 Rail BLACK RUBBER RUBBER BALUSTRADE | Internal &
RUBBER GASKET GASKET FOR LINK RAIL External
PER METRE S40 LINK RAIL FIXING
LENGTH I‘:II
GLASS
THICKNESS: E&,:]
12-15mm e

6 O ///A METHO ©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.

PERFORMANCE GLASS Balustrade Systems www.metroglass.co.nz



BALUSTRADE RAIL SYSTEM
S40 Link Rail

HARDWARE
WARRANTY

Product Model Finish Material Type Application | Area
S40 LINK RAIL 302094 | Suits S40 Rail BLACK RUBBER RUBBER BALUSTRADE | Internal &
RUBBER GASKET PER METRE GASKET FOR LINK RAIL External
LENGTH S40 LINK RAIL | COMPONENT IDI
GLASS &
THICKNESS: ~—
13-16mm @
S40 LINK RAIL 302095 | Suits S40 Rail BLACK RUBBER RUBBER BALUSTRADE | Internal &
RUBBER GASKET PER METRE GASKET FOR LINK RAIL External
LENGTH S40 LINK RAIL | COMPONENT IDI
GLASS &
THICKNESS: ~
16-19mm @
GRUB SCREW 301978 Mb5x6mm SS 316 STAINLESS | GRUB SCREW | BALUSTRADE | Internal &
STEEL LINK RAIL External
= FIXING
- I
.’w_‘r o
s lml

BALUSTRADE RAIL SYSTEM
Edgetec® 220 Link Rail

Aluminium LinkRail 38x30mm — For 12mm and 15mm Glass

- 38 x30mm Aluminium Link Rail.

- Available in Natural Anodised Finish 20 microns as standard or Silver Frost powdercoat. Special colours on request
(Powdercoating or Anodising).

- Rubber gasket available to suit 12mm or 15mm glass thicknesses.

- Rail Components available for 90 degree corners, adjustable corners (180 degrees to 90 degrees), stairway link connectors
(Maximum 35 degrees), inline joiner.

- Wall mount brackets available including end caps.

Compliance
- Complies with NZS 4223.3.2016 and the latest amendment of New Zealand Building Code B1.

OMetro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.
Balustrade Systems

#A. METRO

PERFORMANCE GLASS

61

www.metroglass.co.nz



BALUSTRADE RAIL SYSTEM

Edgetec® 220 Link Rail HARDWARE
| Product | Model | Sizesmm |  Finish | Material |  Type | Application
EDGETEC®220 | 300728 5800mm ANOD — Natural ALUM 6063 LINK RAIL BALUSTRADE | Internal &

LINK RAIL 300729 5800mm SILVER FROST LINK RAIL External
FULLLENGTH [ 300727 5800mm MILL FINISH ||:||
GLASS ON REQUEST: ~-
THICKNESS: | POWDERCOAT D’“’
12-15mm
OVERALL
SIZE:
38 x 30mm
EDGETEC® 220 | 300725 2900mm ANOD — Natural ALUM 6063 LINK RAIL BALUSTRADE | Internal &
LINK RAIL 300726 2900mm SILVER FROST LINK RAIL External
HALFLENGTH | 300724 | 2900mm MILL FINISH IDI
(Half Length) | ON REQUEST: ,&
GLASS POWDERCOAT D
THICKNESS:
12-15mm
OVERALL
SIZE:
38 x 30mm
EDGETEC®220 | 300593 2900mm BLACK RUBBER RUBBER BALUSTRADE | Internal &
LINK RAIL GLASS GASKET FOR LINK RAIL External
RUBBER GASKET THICKNESS: EDGETEC® | COMPONENT IDI
Lomm 220 LINK RAIL
29
EDGETEC®220 | 300594 2900mm BLACK RUBBER RUBBER BALUSTRADE | Internal &
LINK RAIL GLASS GASKET FOR LINK RAIL External
RUBBER GASKET THICKNESS: EDGETEC® | COMPONENT
15 : 220 LINK RAIL IDI
mm *For a 5.8m Link
Rail x2 rubber ,gv
gaskets lengths @
are required
EDGETEC®220 | 300847 | B0x228x5mm MILL ALUM 6063 180 DEGREE | BALUSTRADE | Internal &
LINK RAIL INLINE STRAIGHT LINK RAIL External
JOINER JOINER COMPONENT IDI
! . ' EEL:]
iL NN
EDGETEC®220 | 300848 | 50x50x5mm MILL ALUM 6063 90 DEGREE | BALUSTRADE | Internal &
LINK RAIL 90 CORNER LINK RAIL External
DEGREE JOINER JOINER COMPONENT IDI
K-
X =
EDGETEC®220 | 300493 |38.4x30.4mm | ANOD - Natural ALUM 6063 END CAP BALUSTRADE | Internal &
END CAP 300494 |38.4x30.4mm | SILVER FROST LINKRAIL | External
" | 300492 |38.4x30.4mm MILL COMPONENT ||:||
, Suits Edgetec® ON REQUEST: H-
|«- 220 Rail POWDERCOAT =)
(Component)
EDGETEC® 220 Suits Edgetec® ALUM 6063 90 DEGREE | BALUSTRADE | Internal &
LINQIERDII\EI‘IE.;é)éED 301885 220 Rail SILVER FROST CORNER LINK RAIL External
Suits Edgetec® CONNECTOR | COMPONENT I I
CORNER
301986 290 Rail MILL EI
g b (Component) | ONREQUEST: =)
-Q,l LS POWDERCOAT

6 2 ///‘ METHO ©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.
 PERFORMANCE GLASS Balustrade Systems www.metroglass.co.nz



BALUSTRADE RAIL SYSTEM
Edgetec® 220 Link Rail

HARDWARE
WARRANTY

Product Model Finish Material Type Application | Area
EDGETEC®220 | 3g19g7 | Suits Edge‘flec‘a SILVER FROST ALUMB063 | ADJUSTABLE | BALUSTRADE | Internal &
Hém'égﬁ%'h 220 Rai HORIZONTAL LINK RAIL External

I ®
HORIZONTAL 301988 | SUits Edgetec MILL JOINER COMPONENT
220 Rail
JOINER
(Component) | ONREQUEST: EH,J
S POWDERCOAT s

[ S
EDGETEC®220 | 301989 SUi’%SE%dgeFIEC‘E SILVER FROST ALUMB063 | ADJUSTABLE | BALUSTRADE | Internal &

‘l;:ENRKT?gt ai VERTICAL LINK RAIL External

i ®
ADJUSTABLE 301990 Suits Edgei_:ec MILL JOINER COMPONENT D
220 Rail
JOINER P
= (Component) ON REQUEST: '~
“ 4 POWDERCOAT (N—"j
l.. !_

EDGETEC® 220 301003 | 120x45mm SILVER FROST ALUM 6063 WALL BALUSTRADE | Internal &
WALL BRACKET BRACKET LINK RAIL External
(LEFT HAND) 301004 | 120 x 45mm MILL COMPONENT ||:||

p— Suits Edgetec® | ON REQUEST: *For attaching
i 220 Rail POWDERCOAT -
to posts or

m I (Component) strpuctures @

| &

EDGETEC® 220 301005 | 120x45mm SILVER FROST ALUM 6063 WALL BALUSTRADE | Internal &
WALL BRACKET BRACKET LINK RAIL External
(RIGHT HAND) 301006 | 120 x 45mm MILL COMPONENT I I
7 Suits Edgetec® ON REQUEST: *For attaching D

220 Rail POWDERCOAT £f
b to posts or
- (Component) strpuctures @
EDGETEC® 220 301002 | 100x65mm SILVER FROST ALUM 6063 WALL BALUSTRADE | Internal &
WALL BRACKET BRACKET LINK RAIL External
POSTEND MOUNT | 301149 | 100x65mm MILL COMPONENT ||:||
= 4 Suits Edgetec® | ON REQUEST: *For attaching
47 220 Rail POWDERCOAT -

] to posts or P
m . [Component] strﬁjctures [Q
EDGETEC® 220 301991 60 x 46mm SILVER FROST ALUM 6063 POST END BALUSTRADE | Internal &
WALLBRACKET MOUNT FOR LINK RAIL External

POSTENDMOUNT* | 301992 60 x 46mm MILL APBS COMPONENT I I
*Suits AP65 Series . | I
Aluminium Post Suits Edgetec® | ON REQUEST: *For attachin
——— 220 Rail POWDERCOAT to posts org /gv
J. | (Component) structures @
- |
SCREW 301993 | 6Gx1/4”Sq SS 304 STAINLESS SCREW PANHEAD | Internal &
STEEL SCREW External

& GLASS SuUITS
THICKNESS: COMPONENT IDI

300847

12mm, 15mm 300848 £f-

! 301985 paas
301986 @

301003

301004

301005

301006

301002

301149

301991

301992

SILCONE — 300011 V60 ADHESIVE CARTRIDGE SILCONE FIXING Internal &
STRUCTURAL COMPONENT | External

GLAZING

Il
&9

©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.

www.metroglass.co.nz

Balustrade Systems

#A. METRO

PERFORMANCE GLASS




BALUSTRADE FIXING COMPONENTS - BASE FIXPG120B
Concrete and Steel Substrates (Domestic and Commercial Applications)

CONCRETE FIXING — BASE FIX

HARDWARE
A,B,E,C3 OCCUPANCY TYPE HARDWARE
Product Sizes mm Finish Material Application
THREADED ROD FIXING Internal &
FOR CHEMICAL M10 x 110mm COMPONENT | External
ANCHOR Threaded Rod THREADED
U | 501164 | M12x24x25mm ss 316 STAINLESS ROD / IDI
STEEL WASHER /
Washer (Round) H-
. o NUT lml
fit M10 Nut 2N
e
HILTI HIT-HY 200
MAX CHEMICAL
ANCHOR
CHEMICAL
/’ 300003 330ml ADHESIVE | CARTRIDGE ANCHOR
HARDWARE
C1/C2,D OCCUPANCY TYPE HARDWARE
Product Model Sizes mm Finish Material Type Application| Area
THREADED ROD FIXING Internal &
FOR CHEMICAL M12 x 125mm COMPONENT | External
ANCHOR Threaded Rod THREADED
WSS | 500256 | M12x 24 x 2.5mm SS 316STAINLESS | SLEEVE/ I‘:ll
Washer (Round) STEEL WASHER / &
N - HEX SCREW @
| o =~
L v, M12 nut
- =20
e
HILTIHIT-HY 200
MAX CHEMICAL
ANCHOR
CHEMICAL
/’ 300003 330ml ADHESIVE | CARTRIDGE ANCHOR
HARDWARE
ALL OCCUPANCY TYPES HARDWARE
Product Model Sizes mm Finish Material Type Application | Area
HEX SCREW 500257 M10 x 35mm SS 316 STAINLESS | HEX SCREW FIXING Internal &
STEEL /WASHER/ | cOMPONENT | External
B | 501267 M10 x 40mm Ss NUT
- 501268 M10 x 50mm Ss IDI
| i
v INCLUDES: lél
X2 M12 x 24 x 2.5mm
*Check length for Washer (Round) 29

application

M10 Nut

6 4 /M METHO ©OMetro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.

PERFORMANCE GLASS Balustrade Systems www.metroglass.co.nz



BALUSTRADE FIXING COMPONENTS - SIDE FIX PG120S/PG180S
Concr‘ete, Steel and Timber Substrates (Domestic and Commercial Applications)

CONCRETE FIXING - SIDE FIX

HARDWARE
ALL OCCUPANCY TYPES HARDWARE
Product Model Sizes mm Finish Material Type Application| Area
THREADED ROD FIXING Internal &
FOF‘:\ﬁIéEII\g::?AL M10 x 190mm COMPONENT | External
Threaded Rod THREADED IDI
[ s
500255 | M12x 24 x 2.5mm SS 316 STAINLESS ROD/
- Washer (Round) STEEL WASHER / @
| 2 :/_':hl NUT Caad
- M10 Nut =29
O
HILTI HIT-HY 200
MAX CHEMICAL
ANCHOR
CHEMICAL
” 300003 330ml ADHESIVE CARTRIDGE ANCHOR
HARDWARE
ALL OCCUPANCY TYPES AARDARE
Product Model Sizes mm Finish Material Type Application | Area
HEX SCREW 500257 M10 x 35mm ss 316 STAINLESS | HEX SCREW FIXING Internal &
STEEL /WASHER/ | cOMPONENT | External
R | 501267 M10 x 40mm SS NUT
_— 501268 M10 x 50mm SS IDI
| i ™
b e INCLUDES: |&|
X2 M12 x 24 x 2.5mm
*Check length for Washer (Round) =29
application :)
M10 Nut
A,B,E,C3,C1/C2,D OCCUPANCY TYPE HARDWARE
WARRBANTY
Product Model Sizes mm Finish Material Type Application | Area
COACH SCREW I I
M10 x 120mm D
e Coach Screw H-
500632 ss 316 STAINLESS | COACH SCREW |m|
0 MlO/lhE><2[4x2.5rc111)m STEEL / WASHER 20
Washer (Roun
o
HEX BOLT M10 x 130mm Hex Bolt
M12 x 24 x 2.5mm
Washer (Round) HEX BOLT IDI
H-
| 500259 | M12 Washer 50 ss 16 STARLESS | wasHER / =
™ x 50mm x 5mm NUT

*Check length for
application

(Square)
M10 Nut

OMetro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.

www.metroglass.co.nz Balustrade Systems

#A. METRO

PERFORMANCE GLASS




BALUSTRADE FIXING INDIVIDUAL COMPONENTS
Fixings: Rods, Anchors, Screws, Washers, Nuts

To suit Concrete, Steel and Timber Substrates (Domestic and Commercial Applications)

IMEI Application

M10 x 110mm 301500 | M10x110mm 316 STAINLESS | THREADED FIXING Internal &
THREADED ROD STEEL ROD COMPONENT | External
- 9
[ e s s =

=20

e )
HILTIHIT-HY 200 | 300003 330ml ADHESIVE CARTRIDGE CHEMICAL FIXING Internal &
MAX CHEMICAL ANCHOR COMPONENT | External

ANCHOR IEII

&

Pava"d

,, . =20

| — =
WASHER Mi12x24x 316 STAINLESS WASHER FIXING Internal &

M12X24X2.5 SIRSHLE) 2.5mm o= STEEL COMPONENT | External

; Il
¢ &9

- or
e
M10 NUT 301025 M10 Nut SS 316 STAINLESS NUT FIXING Internal &
STEEL COMPONENT E)Id:ernlal
il

& CH:]
R A~s

=29
O

M10 HEX SCREW | 301303 | M10x35mm SS 316 STAINLESS | HEX SCREW FIXING Internal &
301880 | M10 x 40mm ss STEEL COMPONENT | External

302013 | M10x50mm ss IDI
&9
Coand
=29
=

HEX SCREW 301305 | M12x35mm SS 316 STAINLESS | HEX SCREW FIXING Internal &
M12 X 35MM STEEL COMPONENT | External

u
2
o

M12 NUT 301028 M12 Nut SS 316 STAINLESS NUT FIXING Internal &
STEEL COMPONENT | External
[
Pl

B0

6 6 ///A METHO ©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.

PERFORMANCE GLASS Balustrade Systems www.metroglass.co.nz



BALUSTRADE FIXING INDIVIDUAL COMPONENTS
Fixings: Rods, Anchors, Screws, Washers, Nuts

To suit Concrete, Steel and Timber Substrates (Domestic and Commercial Applications)

Application

M10 COACH 301837 | M10 x180mm 316 STAINLESS COACH FIXING Internal &
SCREW 301926 | M10x120mm Ss STEEL SCREW COMPONENT ExIter‘nIaI
f o
&
=20
)
M12 WASHER | 302q09g | M12Washer Ss 316 STAINLESS WASHER FIXING Internal &
50MM X50MM 50x50x5mm STEEL COMPONENT | External
X5MM ||:||
K-
L 3
=290
o
M10 HEX BOLT | 300528 | M10x240mm SS 316 STAINLESS HEX BOLT FIXING Internal &

STEEL COMPONENT External

Il

300527 | M10x130mm SS

JB

©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019. M METHO 6 7

www.metroglass.co.nz Balustrade Systems PERFORMANCE GLASS





